

$$y^2 - y = x^2 + x + 2 \Rightarrow x^2 + (-y+1)x + (y+2)$$

$$\Delta \geq 0 \rightarrow (-y+1)^2 - 4(y+2) \geq 0 \Rightarrow y^2 - 4y - 7 \geq 0$$

$$(y-2)(y+1) \geq 0 \Rightarrow \frac{-1}{2} \leq y \leq 2 \Rightarrow R_f = \mathbb{R} - (-1, 2)$$

$$(y+1)(y-2) \geq 0 \Rightarrow R_f = (-\infty, -1] \cup [2, +\infty)$$

$$\begin{aligned} x^2 - 2x^2 + 2x + 2 &\in \mathbb{R} \Rightarrow \log x^2 - 2x^2 + 2x + 2 \in \mathbb{R} \Rightarrow R_f = \mathbb{R} \\ x^2 - 2x^2 + 2x + 2 &\in \mathbb{R} \Rightarrow \sqrt{x^2 - 2x^2 + 2x + 2} \in \mathbb{R}^+ \Rightarrow R_f = [0, +\infty) \\ -x^2 + 2x - 2 &\in (-\infty, 2] \Rightarrow \sqrt{-x^2 + 2x - 2} \in (0, 2] \Rightarrow R_f = (0, 2] \\ R_f &= \left[-\frac{2}{\sqrt{2}}, +\infty\right) \\ \Delta &= 2^2 - 4 = 0 \\ \frac{\Delta}{2a} &= -\frac{2}{\sqrt{2}} \\ R_f &= \left[-\frac{2}{\sqrt{2}}, +\infty\right) \end{aligned}$$

$$\begin{aligned} x^2 + x + \frac{1}{x^2 + x} - 2 &\in \mathbb{R} \Rightarrow \left(x + \frac{1}{x}\right) - 2 \in \mathbb{R} \Rightarrow R_f = \left[\frac{1}{2}, +\infty\right) \\ x^2 + x = \frac{x^2 + x + 1}{\sqrt{x^2 + x}} &\Rightarrow \frac{x^2 + x + 1}{\sqrt{x^2 + x}} = \sqrt{x^2 + x} + \frac{1}{\sqrt{x^2 + x}} \\ t = \sqrt{x^2 + x} &\Rightarrow R_f = \left[\frac{1}{2}, +\infty\right) \\ R_f &= \left[\frac{1}{2}, +\infty\right) \\ R_f &= \mathbb{R} - \left\{\frac{1}{2}\right\} \end{aligned}$$

$$\begin{aligned} \frac{x^2 + 1}{x^2 - 1} = y &\Rightarrow x^2 = -\frac{y-1}{y+1} \Rightarrow x^2 = \frac{y+1}{y-1} \\ \frac{y+1}{y-1} &\geq 0 \Rightarrow \frac{-1}{2} \leq y \leq 2 \Rightarrow R_f = \mathbb{R} - (-1, 2) \\ x^2 &\in (0, +\infty) \\ \rightarrow 0 &\rightarrow -1 \\ \rightarrow +\infty &\rightarrow 2 \\ x^2 - 1 = 0 &\rightarrow x^2 = 1 \\ R_f &= (-\infty, -1] \cup (1, +\infty) \\ R_f &= (-1, 2) \end{aligned}$$

$$\begin{aligned} \frac{r \sin x - 1}{\sin x + r} = y &\Rightarrow \sin x = -\frac{ry + 1}{y - r} \\ -1 \leq \sin x \leq 1 &\Rightarrow \frac{-ry + 1}{y - r} \leq 1 \Rightarrow \frac{-ry + 1 - y + r}{y - r} \leq 0 \Rightarrow \frac{-ry + r - y + 1}{y - r} \leq 0 \Rightarrow \frac{-ry + r - y + 1}{y - r} \leq 0 \Rightarrow \left(\frac{1}{r}, +\infty\right) \cup (r, +\infty) \\ -1 \leq \frac{-ry + 1}{y - r} &\Rightarrow \frac{y - r - ry + 1}{y - r} \geq 0 \Rightarrow \frac{-ry - 1}{y - r} \geq 0 \Rightarrow \left(\frac{1}{r}, +\infty\right) \cup (r, +\infty) \\ R_f &= \left[\frac{1}{r}, +\infty\right) \cup (r, +\infty) \end{aligned}$$

$$n^r - n + 1 \leq 40$$

$$\Rightarrow \text{ID}_f = \text{IR}$$

$$x^{\frac{1}{r}} - x + \frac{1}{r} \in (0, +\infty)$$

$$\rightarrow \frac{x^r - x + 1/f}{x^r - x + \frac{1}{f} \cdot \frac{r}{f}} = \frac{(x^r - \frac{1}{f}) \cdot \frac{r}{f}}{(x - \frac{1}{f}) + \frac{r}{f}}$$

$$\max t \rightarrow +\infty \rightarrow 1$$

$$\min t \rightarrow \frac{-1}{f} \rightarrow 0$$

$$x^2 - x + \frac{1}{x} = 0 \Rightarrow \frac{x^3}{x}$$

$$n^2 - n + \frac{1}{f} = 0 \Rightarrow \text{---}$$

$$(x - \frac{1}{r})' + \frac{r}{1} \neq 0$$

~~$\frac{1}{R_p} = \frac{1}{R_1} + \frac{1}{R_2}$~~ $R_p = 8(1, \frac{1}{7})$

$|x-1| + |x+1|$

A hand-drawn graph of the function $y = |x-1| + |x+1|$ on a Cartesian coordinate system. The graph is a V-shape opening upwards with its vertex at (0, 2). The x-axis and y-axis are labeled with arrows. The y-axis has tick marks, and the x-axis has tick marks. The function is plotted as a blue line.

$$R_f = [r, +\infty)$$

$$\Rightarrow R_f = [-r, +\infty)$$

$$\left. \begin{aligned} -3x &= 1 \Rightarrow x = -\frac{1}{3} \\ x + 5 &= 1 \Rightarrow x = -4 \end{aligned} \right\} \rightarrow \text{No solution} \Rightarrow R - \left(-\frac{1}{3}, -4\right)$$

$$3x - [x]$$

$$R_{[x,y]} = (-f, \omega)$$

$$R_{\mathcal{B}'} = \mathbb{R}$$

$R_{\text{eff}} = 1R$
 علامتوں میں دیا ہے

$$[x] - [x] + r$$

الف)

$$|A_f = \{r, r\}$$

$$\sin^2 x = 1 \rightarrow y = \pi$$

$$\sin^2 n = 0 \rightarrow y = 1$$

$$\sin^2 x = -\frac{1}{4} \rightarrow X$$

$$R = [1, 4]$$

ج۱

$$\sin x = 1 \rightarrow y = 1$$

$$\sin \pi = -1 \rightarrow y = \pi$$

$$\sin x = \frac{1}{r} \rightarrow y = \frac{r}{r}$$

$$R = \begin{bmatrix} r \\ f \end{bmatrix}, 1]$$

(الف)